Efficiency vs P,

- 02
o
2 0.18F
> -
2 0.16F
9]
o
20.14
0]
0.12
0.1
0.08
0.06
0.04
0.02F -+ TR Beoeeeees e

................................................

................................................

Ratio
=
=
—— [
——F
: E

—=— DQM_mkFit_TT_base_noSel

—— DQM_mkFit_TT_retrainOldFiles_v2_noSel

= 02 ————
T s o o s
e o o o
L s s et
TR e e e
O R 1L 11X A RSEE TR
AR AT
0.06f+-
0.04f
0.02F
L O

............

TT
&

Ratio

0.950

Efficiency vs ¢

s 0.1

g F

= 0.09

2 :

50.08f :

(&)

£0.07fF-1-

o : !
0.06F: i
0.05F--- ;
0.04F i
0.03E :
0.02F ;
O R SRR SRS e

~F i i i

2k ] i

IS ml (44 : : T[4

2d i | 15 T bl

et T L ;
0983™ -1 0 12 3




	Contents
	Page 1


